SRISHEE JRETRE
SF5F4A1H ~FF6F3A31IHET

FrE FEATEEIEANH 7L R —2

(HAZ: 1)
At H N
I RREIX
1. Tt
ESBEZIaE 20,000
UIE =B e ¢ 0
20,000
2. A4
= B EF 4 10,000
10,000
3. EBh RS
= Bh k4 0
0
4. FFEINE
1 FEEOBFEELROESAEREZRAICET 27200
RIS S BER ALY — B A S 11,000,000
EETE 1,050,000
12,050,000
5. ZDOMINEE
% BRI, 10
MEN2S 0
10
N AR 12,080,010
o #RH 2 H
1. FHE
(1) N2
NEE G5 7,460,000
EERERE 750,000
&R E A 50,000
NG 8,260,000
(2) F D
FAETE 1,000,000
(BRS¢ 50,000
THAES R 90,000
B 50,000
KB BV 270,000
EhREE 40,000
HERBE 80,000
i AVETYE 20,000
AR 120,000
WHE % 40,000
Hl 300,000
T 150,000
MEE 0
Ot F 2,210,000
FHEEE 10,470,000

REEREIFEE




2. B
(1) A2
*a 240,000
FY 50,000
NG 290,000
(2) =DM A
HEH 260,000
EfER 10,000
FHBLAFR 1,000
itk 120,000
RIE S EE 30,000
5 130,000
DA 10,000
B AR 5,000
E-AHE 24,000
SCHATECR} 1,500
WHE - iR E 15,000
DA AE H0 711,176
MEE 0
ZDOME A 1,317,676
EHEG 1,607,676
o R 12,077,676
TR T AR 2,334
|| gAY
0
RGN ey 0
IV ®&EIN
0
ASGTIS Stk 0
FRBR X Ay IR A 0
0 1 T R A P e E 2,334
7 il A R A 19,694,791
YR E R Y PERE 19,697,125
R5.3.31

REEEIFEE2




